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@ x+3x=5x-2x @ 2x+1=2
@4(x—2):4x—8 @ 2x+2=2(x-3)+2

® 3x+4-x=2(x-1)+3

@ 4(x-2)=4x-8
4x—-8=4x-8
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@ 4x = 3x [A] © 4x-2x = 2x [HH
© 0.5x + 1.5x = 2x [&] @ 2x=2 [

® x-1=-1[5] ® 3-3x=0 [

@ -2x+1=1-2x[H] © x?-3x=4[4]
® 3x4+1=3x+1[F] ® 4x-1=x+2[3H
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@ 4x = 3x : 4x - 3x = 0 (FAPFA A ot}
O4x-2x=2x: 4x-2x—-2x=0
= 0= 0 (LAFFA0] okt
© 05x+1.5x=2x:05x+15x—2x=0
= 0= 0 (A8 A0l ottt
@ 2x =2 : (FAPLAE Aol
@x-1=-1:x-1+1=0
(x = 0 9 QAP Alo]ct)
® 3-3x=0: (LA A}
RN -2x+1=1-2x: 2x+1-14+2x=0
= 0=0 (278 2]o] ofyrt.)
© ¥ —3x =45 (WIA1%8] HRAG) A7} YA} ohieh)
® 3x+1=3x+1: (F5A°Ith)
@ 4x—1=x+2: (EAFA A olr}))
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HgA 2x -3 =4 oA 2O -3
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3x+2=x+14
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(Bl+x-5)+(26+x-5)=(53+x—-5)+8
2x+47=x+56, x=9
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